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SFZ11- .
5767 |HL 778 5% 10000/35 2 1, 502, 586. 97 1,502,586.97| 5 1 |H" =3+
Q =]
5768 ﬁ’%@ BRAST JKMD-4%47111 1 17,612, 456. 91|  17,612,456.91| %) 115" =3
35KV 4 JE fdt 2k .
X N -40. . ,051,735. =
5769 o KYNS-40. 5 11 2,051, 735. 06 2,051,735.06| 81115 =
6KV N 4B fa s -
. - , 243, 165. 2,243,165.37| 81 1|15 =
5770 O KYN28A-12 23 2,243, 165. 37 I =3
TOP900OTHHL L5 & —
5771 SIS 25606, 2 1 600, 467. 55 600,467.55| 51 ) 1|5 =
= At
5772 gﬁm%mﬂg TBBZ-6/900 2 309, 902. 12 309,902.12| &) 1|5 =H:
HGRF J— .
e Y =
5773 |FE O #MLA 15/70/5-7 2 531, 113. 45 531,113.45| 80115 =3
5774 |FEIEAR I %IIA_I' 25" 2 1,136, 597. 44 1,136,597.44| 81 115~ = 3¢
Z U PEBESE AL BHS—
Q J] N 2t p—y
5775 gﬁf;@%%@ AXA2/678,/ ) 1 579, 627. 91 579,627.91| )15 =
X qb—-40/5t- _
5776 | MG FE AL 10. 5mas 1 722.308.64 722,308.64| )11 =
X QD-45/5T- _
5777 [ HAM G EHL 13. SHAS 1 588.731.00 588,731.00[ H )11~ =
5778 |FEIRCRALENL |1LSS-25T-6M |1 96, 967. 45 96,967.45| 81 ) 1|5 =H:
5779 | BUEAFZSJENL  |SRC-330SAG 5 2,938, 475. 22 2,938,475.22| )15 =H
5780 |k HHENL ?JS—ZGO/ 740 2 39, 897. 91 39,897.91( 8114 =
5781 [hHF#L BH-50 1 44, 025. 29 44,025.29| 8 1|7 =H:
5782 |PLCIE#IAE JL-1000 1 49, 528. 45 49,528.45| 5 1|7 = H
P s: o3
5783 ZJ}%’K%EMI%”’% b5 1 935,537.37)  935,537.37|WIlF = IF
5784 |EELEHL DLG-40 1 486, 892. 18 486,892.18| 115" =3




5785 | BAHFHL EE;;?MBZIM 1 73,622. 17 73,622.17| 8 )11~ = JF
5786 | FIHEHL  |GT2-60 1 820, 423. 67 820,423.67| 81 1|17 =
5787 V&R 2 IEFAL GTL-60 1 391, 233. 67 391,233.67| 8911 =
5788 [JEIKEE 802X50-32 1 7,949. 23 7,949 23|81 )15 = H
5789 [ IR 3/2C-AH 1 77, 284. 14 77,284.14| 80 )15 =
5790 |5 IR WQ15-30-3 1 4, 968. 26 4,968.26| B 1| F =3
5791 [F5rFiml FFT-60 1 38, 642. 07 38,642.07| 8A )15 =4
5792 |l 24t FMH-60T 1 501, 463. 64 501,463.64| 80 )15 =3
5793 |Wis%E ;BOWQMO_IO_ 2 20, 093. 88 20,093.88| 115~ =4
stor gm0 % 1 3,312.17 33121791115 =3
5795 |ABBifKEEE  |KDGS60-32 1 109, 191. 44 109,191.44| 83 ) 115 =
5796 |[FEIRIIER 25DF-12 2 17, 885. 75 17,885.75| 55115 =3¢
5797 |HETRE 3T HL B #f 1 16,671. 29 16,671.29( 511" = JF
5798 |EFFEE é&IB(F )20 2 49, 020. 23 49,020.23| 811185~ =3
5799 | U VENL DYDN1000 1 200, 386. 74 200,386.74| 81115 =
5800 |FNETT IR 203510—10— 2 13, 469. 52 13,469.52| 81|15 =
5801 |¥=E#ilAE 0. 8%0. 8%2. 2 4 111, 730.79 111,730.79( 89 )15~ =
5802 | Z g5 IHIHUEE E | TCXN-10 3 86, 779. 05 86,779.05| 81 )15 =
ss03 |mabpeka  [ho200/00 2 84, 791. 75 84,791.75| &)1l =3¢
5804 |F ST IR WQs-10-1. 1 1 6, 734. 77 6,734.77| B 1| =3
5805 | HEAEKARE | JSN-F2500 1 46, 812. 11 46,812 11| B I~ =3
HBIAE (E¥Ei| [XBD6. 2/15- .
5806 i) 80-235 2 57, 852. 69 57,852.69| &1 )15 =3
N 25 153
5807 Z%%E”t“m”‘”% Jek 1 462, 711. 17 46271117\ )1 =3k
5808 | —JCibiF/K &% TCYYH-65 2 1, 093, 018. 52 1,093,018.52| &1 )15 =
5809 | 4f 35K Vi) i 4k 14 1 12, 551, 400. 00|  12,551,400.00| &4 1|15~ =
5810 [ =3 T 6kvAr HL AT YR LR B 1 2, 852, 500. 00 2,852,500.00| 54115 =3
5811 [4-H6KVELHK 1.00 282, 460. 00 282,460.00| 2 1|7 = H:
& 51,108.00| 453, 051, 100. 60| 227,226,539.28| 8H )15~ =
A IR
| i Tt 208 S s B FE On) HEH ) i
1 i SET210K 1 8,960.00 448.00 | 4= 58 )15
2 |iFEmL 1 8,960.00 448.00 | 4 58 )15
3 |EICAHN kAR 1 7,521.37 376.07 | &)1 5
4 |EEpHL EH 1 6,153.85 307.69 | 4= [ )15
5  [HTEIHL EPSON1600K3 1 2,606.84 2 THEH )1 B
6 SEC A L —ZQIU 1 5,854.70 292.73 | &[] 1|7
7 |irEm HEZE 7L ICA-20 1 6,410.26 AL A )NA
8  |itEMm HEZE 7L ICA-20 1 6,410.25 AL A )NA
9 |irEHL A E RMT14 3 10,512.82 2 THEH )1 B
10 [iHEHL AR J5 RM713 1 4,273.50 2 THEH )1 B
11 iEHL AR JE RMT19 1 4,273.51 SE )16
12 |iFEHL AR JE RMT19 1 4,273.51 SE )16




BRAEE R

13 |i5EhL M7150 ! 27351 UREILLII
14 |&rR4TEIm EPSONLQI160 1 3,076.92 ESELEI
15 |ersRdrEm EPSONLQI160 1 3,076.93 ESELEI
16 [iH5HL BAEHAMTIY 1 3,675.21 1,066.93 | 4 )1~
17 [iH5HL BAEHAMTIY 1 3,675.21 1,066.93 | 4 )1~
18  |it5HL BARH KMT713 1 3,675.21 1,066.93 | 42 [ )1[f~
19 [iH5HL BAEHAMTIY 1 3,675.21 1,066.93 | 4 6 )1~
20 [VHEHL BEARH RM713 1 3,675.21 1,066.93 | 42 [ )1[f~
21 W5 BEARH KMT713 1 3,675.21 1,066.93 | 42 ] )1[f~
22 [i5HL BAEHAMT1Y 1 3,675.21 1,066.93 | 4 )1~
23 [iF5HL BAEHAMTIY 1 3,675.21 1,066.93 | 4 )1~
24 [iF5HL BAEHAMTIY 1 3,675.22 1,066.93 | 4 )1~
25 [VHHL BEARH KMT713 1 3,675.22 1,066.93 | 42 [ )1]f~
26 [i5HL BAEHAMTIY 1 3,675.22 1,066.93 | 4 )1~
27 [iF5HL BAEHAMTIY 1 3,675.22 1,066.93 | 4 6 )1~
28 |EortTEnmL H¥ (HP)lase 1 2,307.69 669.87 | 42 A )11~
29  |EortTenm H¥ (HP)lase 1 2,307.69 669.87 | 42 A )11~
30 |BORITERRL B (HP)lase 1 2,307.69 669.87 | 42 P 5 ) 1|~
31 |oRdTERRL H¥ (HP)lase 1 2,307.69 669.87 | 42 A )11~
39 |MORATERHL H¥ (HP)lase 1 2,307.69 669.87 | 42 A )11~
33 |MORITERHL B (HP)lase 1 2,307.70 669.87 | 42 P 5 )1~
34 |BORFTERRL H¥ (HP)lase 1 2,307.70 669.87 | 42 A )11~
35 |EEL FKAEIE163V 1 5,555.55 1,612.75 | £ e 1|5
Y per L 163V 1 5,555.56 1,612.75 | 42 [ )1~
37 |EEwL FKAEIE163V 1 5,555.56 1,612.75 | £ e 1|5
P 1 3,247.86 EEH )6
39 [Him HAR RV RS 1 5,042.74 SR
40 |HK ERSIEPN 1 2,905.98 LR
41 | ERSIEPN 1 2,905.98 LR
42 |HK ERSIEPN 1 2,905.98 LR
43 |HK ERSIEPN 1 2,905.98 LR
44 |HK ERSIEPN 1 2,905.98 L)
45  |Hw ERSIEPN 1 2,905.98 LR
46 | ERSIEPN 1 2,905.98 LA
A7 | ERSIEPN 1 2,905.98 LR
48 | ERSIEPN 1 2,905.98 LR
49 | ERSIEPN 1 2,905.98 LR
50  [Hm ERSIEPN 1 2,905.98 LR
51  [Hm ERSIEPN 1 2,905.98 LR
52 [Hm ERSIEPN 1 2,905.98 LR
53 [H ERSIEPN 1 2,905.98 LR
54  [Hm ERSIEPN 1 2,905.99 LR
55  [Hm ERSIEPN 1 2,905.99 LR
56 [Hm ERSIEPN 1 2,905.99 LR
57 |l TRAE R 1 4,188.04 i
58 |t TRAE R 1 4,188.04 i




59  |Hfi TRAE AR 1 4,188.04 SR
60 [ Hbfi TRAE AR 1 4,188.04 SR
61  [HLJi TRAE AR 1 4,188.04 SR
62 [HLJi kAR HE 1 4,188.03 SR
63 [HLJi TRAE AR 1 4,188.03 SR
64 [HLJi TRAE AR 1 4,188.03 SR
65 [HLJi kAR AR 1 4,188.03 SR
66 [ HuJi kAR HE 1 4,188.03 SR
67  [HLJi TRAE AR 1 4,188.03 SR
68  [PIHHL BEARH KM713 1 5,641.02 2,906.25 | 4= [H &1 )1 6™
69 [WHHL BRARH KMT713 1 5,641.02 2,906.25 | 4= [H &1 )1 6™
70 [iHEHL BARH KM713 1 5,641.02 2,906.25 | 4= [H &1 )1 6™
71 SR BRARH KMT713 1 5,641.02 2,906.25 | 4= [H &1 )1 6™
72 [iHEHL BARH KM713 1 5,641.03 2,906.26 | £ [H 811 6™
73 AL BEARH KM713 1 5,641.03 2,906.26 | 42 [H 811 6™
74 [HHEHL BARH KM713 1 5,641.03 2,906.26 | £ [H &1 1| 6™
75 [iHEHL BRARH KMT713 1 5,641.03 2,906.26 | 4= [H 811 6™
76 |4TEIHL HEKD650C 1 16,239.32 8,366.62 | 4 []4 )1~
77 e Jiti :202 1 4,273.50 2,201.68 | 4 [ 51| i~
78 |k RETEIRL EPSONLQI160 1 3,589.74 1,846.65 | £z /) 1|~
79 |EFITEINL EPSONLQ160 1 3,589.74 1,846.65 | 4 [H )16~
80 |&t=RiTEIKL EPSONLQI160 1 3,589.74 1,846.65 | £z ) 1|~
81 [Er=A4TENHL EPSONLQ160 ! 3,589.75 1,846.66 | 4[]8 )| 1~
82 [EFa4TENHL EPSONLQ160 ! 3,589.75 1,846.66 | 4[]8 )11~
83 [iHHHL 487360 1 5,982.90 2,309.85 | 42 [ 1)1 | -
84 [iHHHL 487360 1 5,982.90 2,309.85 | 42 [ 811 | -
85 [iHHHL 487360 1 5,982.91 2,309.86 | 42 [ #1115~
86  [iHHHL 487360 1 5,982.91 2,309.86 | 42 [ #1115~
87  [iHHHL 487360 1 5,982.91 2,309.86 | 42 [ 11| 5~
88 [iHHHL 487360 1 3,846.15 1,485.00 | 42 P11 )1 |6
T ey EREIA211 1 6,837.61 3,379.81 | 4 [ &A1~
90  [HMw 2 1 2,196.58 LR
01 [HMw 2 1 2,196.58 LR
92  |HMK 2 1 2,196.58 LR
93  [HMK 2 1 2,196.58 LR
94  |HMK 2 1 2,196.58 LR
95 [HMK 2 1 2,196.58 LR
96 |HMK 2 1 2,196.58 SR
97 [HMK 2 1 2,196.58 SR
08 |HMK 2 1 2,196.58 SR
99 [HMK 2 1 2,196.58 SR
100 |Hfw 2 % 1 2,196.58 SR
101 [Hfw 2 % 1 2,196.58 SR
102 |Hw 2 % 1 2,196.58 LR
103 |Hw 2 % 1 2,196.58 SR
104 |Hfw 2 % 1 2,196.58 SR
105 [Hfw 2 % 1 2,196.58 SR




106 |Hi %% 1 2,196.58 ST )16
107 |Hi %% 1 2,196.58 ST )16
108 |Hii %% 1 2,196.58 LN
109 |Hi %% 1 2,196.58 LI
110 |Hi %% 1 2,196.58 LN
111 |Hif %% 1 2,196.59 EELIIN
112 |Hi %% 1 2,196.59 ST )16
113 |Hi %% 1 2,196.59 LI
114 |Hi %% 1 2,196.59 LN
115 |Hif %% 1 2,196.59 LN
116 |15 I AEMA4300 1 3,461.54 2,639.54 | 4= [AsA 1|5
117 5L I AEMA4300 1 3,461.54 2,639.54 | 4= A{sA 1|5~
118 |iFeEm L AEMA4300 1 3,461.54 2,639.54 | 4 5 1|4~
119 |5 I AHMA4300 1 3,461.54 2,639.54 | 4= A 1|5
120 [1F5AL I AEMA4300 1 3,461.54 2,639.54 | 4= [A{sA 1|5~
191 i FCAEMA4300 1 3,461.54 2,639.54 | 4 5 1|4~
122 [IF5EAL I AEMA4300 1 3,461.54 2,639.54 | 4= [A{sA 1|5~
123 [iF5EL I AHMA4300 1 3,461.54 2,639.54 | 4= A{sA 1|5~
194 |3 CAEMA4300 1 3,461.54 2,639.54 | 4 5114~
125 |5 X AEM4300 1 3,461.54 2,639.54 | £E ] 111~
126 [TH5&EHL X AEM4300 1 3,461.54 2,639.54 | £E g 111~
127 |5 X AEM4300 1 3,461.54 2,639.54 | £E ] 111~
128 |5 X AEM4300 1 3,461.54 2,639.54 | £E ) 111~
129  [iH5&#HL X AEM4300 1 3,461.53 2,639.53 | £E g 114~
130 [FH5HL X AEM4300 1 3,461.53 2,639.53 | £E H g 114~
131 l4rEmm +hE3000 1 1,709.40 1,303.32 | 42 i ] ) 114
132 [4TEMML HAE3000 1 1,709.40 1,303.32 | £ H ] ) 111
133 |4TEpML 683000 1 1,709.40 1,303.32 | £ ] 114~
134 [4TERML HAE3000 1 1,709.40 1,303.32 | 42 i ] ) 111
135 [47EMML +hE3000 1 1,709.41 1,303.33 | £ ] 111
136 |BOGITEINL AT (HP)laserj 1 5,341.88 4,073.24 | 4 P9\ [
137 |BOGITEINL AT (HP)laserj 1 5,341.88 4,073.24 | £ P9 )| [
138 |[Z A Hm I AES400 1 5,384.62 4,105.66 | £ [ 5] 114~
139 [BRAE A #KR4900d 1 3,504.28 AL E)IA”
140 [EAE ik #7KXR4900d 1 3,504.28 SEHE)NE”
141 |BRAE A #KR4900d 1 3,504.28 AL E)IA”
142 |BRAE A #KR4900d 1 3,504.28 AL E)IA”
143 [WEAE i #7KXR4900d 1 3,504.28 SEHE)INE”
144 |BRAE A #KR4900d 1 3,504.28 AL EH)IA-
145 |BRAE A #KR4900d 1 3,504.28 AL EH)IA-
146  [WEAE ik #7KXR4900d 1 3,504.28 SEHE)INE”
147  |[BRAE #KR4900d 1 3,504.28 AL EH)IA-
148 |BRAE #KR4900d 1 3,504.28 AL EH)IA-
149  [WAE ik #7KXR4900d 1 3,504.28 SEHE)INE”
150  [TeAE L fing #KR4900d 1 3,504.28 AL A )NA
151  [TCAE LA #KR4900d 1 3,504.28 AL A )NA
152  [WRAE ik #7KXR4900d 1 3,504.28 SEHE)INE”




153 |BRAE HL i #KR4900d 1 3,504.28 £ T )1
154 | BRAE FEL G #RKR4900d 1 3,504.28 £ D)1
155 | BRAE HL i #7RKR4900d 1 3,504.28 £ )1
156 |BRAE HEL i #7RKR4900d 1 3,504.28 £ )1
157 | BRAE HE i #RKR4900d 1 3,504.28 £ T )1
158 | HRAE HEL i #7RKR4900d 1 3,504.28 £ D)1
159 | BRAE HEL i #7KR4900d 1 3,504.17 £ )1
160 [Hfx 6 4E4900D 1 3,504.27 £ )1
161 [HW FE4E4900D 1 3,504.27 £ T )1
162 [H £ 4E4900D 1 3,504.27 £ T )1
163 [HMm FE4E4900D 1 3,504.27 £ D)1
164 [Hm 6 4E4900D 1 3,504.27 £ D)1
165 [HM FE4E4900D 1 3,504.27 £ T )1
166 [HM 6 4E4900D 1 3,504.27 £ T )1
167  [Hm 6 4E4900D 1 3,504.27 £ D)1
168 [HMw FE4E4900D 1 3,504.27 £ T )1
169  [HM 6 4E4900D 1 3,504.31 £ )1
170 |EEIHL HUEFS-6525 1 10,683.76 £ T )1
171 TEWL HUEFS-6525 1 1,282.05 £ )1
172 | BRAE FEL i #RKR4900d 1 3,504.28 £ T )1 [
173 |iHEL 6484360 1 4,273.50 3,766.02 | 4 [ 7)1
174 |5 HL 6484360 1 4,273.51 3,766.03 | & [ 8711
175 [4TEm#HL - AELI6500 1 5,128.20 5,128.20 | = [ )15
176  4TEI#HL - AELI6500 1 5,128.21 5,128.21 | = [ )15
177 [ —&AL % 1 2,905.98 AL A )NA
178  [HWi—4&AL % 1 2,905.98 AL A )NA
179  [HW—4&AL % 1 2,905.98 AL A )NA
180  [HWi—4&AL % 1 2,905.98 AL A )NA
181  [HWi—4&AL H%E 1 2,905.98 AL A )NA
182  [HW—4&AL % 1 2,905.98 AL A )NA
183 [HWi— &AL H%E 1 2,905.98 AL A )NA
184 [HW—4&AL % 1 2,905.98 AL A )NA
185  [HWi—4&AL H%E 1 2,905.98 AL A )NA
186 [HW—4&AL H%E 1 2,905.98 AL A )NA
187  [HWi—4&AL H%E 1 2,905.98 AL A )NA
188  [HWi—4&AL % 1 2,905.99 AL A )NA
189 [HWi—4&AL % 1 2,905.99 AL A )NA
190  [HW—4A&AL % 1 2,905.99 AL A )NA
191 [HW—4&AL % 1 2,905.99 AL A )NA
192 [HW—4&AL % 1 2,905.98 AL A )NA
193 [HW— &AL % 1 2,905.98 AL A )NA
194 [ —&AL % 1 2,905.98 AL A )NA
195  [HW—4&AL % 1 2,905.98 AL A )NA
196 [HW—4&AL % 1 2,905.98 AL A )NA
197  [HW— &AL % 1 2,905.98 AL A )NA
198 [HWi—4&AL % 1 2,905.98 AL A )NA
199  [HW—4&AL H%E 1 2,905.98 AL A )NA




200 [HE—1AL % 1 2,905.98 AL A )NA
201  [HE—1AL % 1 2,905.98 AL A )NA
202 [ —1EL Hik 1 2,905.98 AL A )NA
203 [HE 1AL % 1 2,905.98 AL AN A
204 [ 1AL % 1 2,905.98 AL A )NA
205 [HE—1AL % 1 2,905.98 AL A A
206 [HE—1EL Hik 1 2,905.98 AL A NA
207 [HE—1EL H%E 1 2,905.98 AL A )NA
208 [HE—1EL % 1 2,905.98 AL AN A
209 [HE—1AL % 1 2,905.98 AL A )NA
210 [HE—1AL H%E 1 2,905.98 AL A NA
211  [H—1AL H%E 1 2,905.99 AL A )NA
212 [ —1EL % 1 2,905.99 AL AN A
213 [ —1EL % 1 2,905.99 AL A )NA
214 [ —EpL % 1 2,905.99 AL A )NA
215 [ —1EL H%E 1 2,905.99 AL A )NA
216 [ —1EL % 1 2,905.99 AL AN A
217 [ —1EL % 1 2,905.99 AL A )NA
218 [ —1EL % 1 2,905.99 AL A )NA
219 |#TEIHL EPSON 1600K 1 2,606.84 AEHER ) |7
220 &= EINL EPSON LQI6 1 3,076.93 AL A )NA
221  |iTHEAML EAEM6911 1 4,401.71 220.09 | = A s )15
222 |FEiCA K AR FE FHE43 A 1 8,205.13 410.26 | £ 50 1|5
223 [THHEMHL AR JE RM716 3 10,512.82 AL AN A
294 |¥G3TEINL HY (HP)lase 1 2,307.69 669.87 | L= [ )15
225 |iFEHL AR S KM713 1 4,273.50 AL ) 1A
296 |FTEIHL EPSON 1600K 1 2,606.84 AEHER ) |7
A1 230 828,108.11 161,119.20 | 45 [H &7 ) 1|5




